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> /}.‘ xR - - - - - - - - - - - -
LR { PR 3,127 2,496 631 245 223 22 239 221 18 6 2 4
A l%k A R 3,126 2,496 630 245 223 22 239 221 18 6 2 4
> B AR 1 - 1 - - - - - - - - -
3L & 4,034 3,073 961 276 238 38 269 233 36 7 5 2
A l%k A R 4,034 3,073 961 271 234 37 265 230 35 6 4 2
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EE5E LSS 4,152 3,528 624 322 302 20 314 297 17 8 5 3
A Eﬁk A R 4,152 3,528 624 322 302 20 314 297 17 8 5 3
> 1,%&, A ﬁ - - - - - - - - - - - -
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Lahsr & 832 754 78 143 132 11 129 121 8 14 11 3
A Bk B A B 832 754 78 143 132 11 129 121 8 14 11 3
> B4R - - - - - - - - - - - -
TR A E 8,162 7,660 502 289 278 11 241 238 3 48 40 8
A l%k | 132 129 3 46 45 1 38 38 - 8 7 1
© B A B 8,030 7,531 499 243 233 10 203 200 3 40 33 7
A% 1,657 1,429 228 164 130 34 129 115 14 35 15 20
A l%k | 1,060 949 111 95 81 14 70 69 1 25 12 13
2 E%k | 597 480 117 69 49 20 59 46 13 10 3 7
b Sy e S 843 713 130 34 23 11 24 18 6 10 5 5
B 741 631 110 20 16 4 15 12 3 5 4 1
< E%k | 102 82 20 14 7 7 9 6 3 5 1 4
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B3 100.0 86.2 13.8 100.0 87.9 121 92.3 82.9 9.4 7.7 5.0 2.7
FEAR 100.0 83.7 16.3 100.0 87.7 12.3 93.9 83.9 10.0 6.1 3.8 2.3
2 BAR 100.0 92.7 7.3 100.0 88.6 114 82.8 76.8 6.0 17.2 11.7 5.4
& A3 100.0 81.4 18.6 100.0 82.1 17.9 91.1 75.3 15.7 8.9 6.8 2.2
HEEAR 100.0 81.4 18.6 100.0 82.1 17.9 91.1 75.3 15.7 8.9 6.8 2.2
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AL & 100.0 89.2 10.8 100.0 83.7 16.3 97.6 82.9 14.7 2.4 0.8 1.6
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2B R - - - 100.0 80.0 20.0 80.0 60.0 20.0 20.0 20.0 -
L PAR 100.0 82.8 17.2 100.0 87.8 12.2 96.2 87.0 9.2 3.8 0.8 3.1
B AR 100.0 82.8 17.2 100.0 87.7 12.3 96.9 87.7 9.2 3.1 - 3.1
2 B4R - - - 100.0 100.0 - - - - 100.0 100.0 -
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EE5E LSS 100.0 85.0 15.0 100.0 93.8 6.2 97.5 92.2 5.3 2.5 1.6 0.9
A Eﬁk A R 100.0 85.0 15.0 100.0 93.8 6.2 97.5 92.2 5.3 2.5 1.6 0.9
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A l%k | 100.0 97.7 2.3 100.0 97.8 2.2 82.6 82.6 - 17.4 15.2 2.2

© B A B 100.0 93.8 6.2 100.0 95.9 4.1 83.5 82.3 1.2 16.5 13.6 2.9
A% 100.0 86.2 13.8 100.0 79.3 20.7 78.7 70.1 8.5 21.3 9.1 12.2
A l%k | 100.0 89.5 10.5 100.0 85.3 14.7 73.7 72.6 11 26.3 12.6 13.7

v B A B 100.0 80.4 19.6 100.0 71.0 29.0 85.5 66.7 18.8 14.5 4.3 10.1

b Sy e S 100.0 84.6 154 100.0 67.6 324 70.6 52.9 17.6 29.4 14.7 147
A E%k | 100.0 85.2 14.8 100.0 80.0 20.0 75.0 60.0 15.0 25.0 20.0 5.0

2 E%k | 100.0 80.4 19.6 100.0 50.0 50.0 64.3 42.9 21.4 35.7 7.1 28.6
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